AIITEFT-2055
ey e, feaw: et
AT 41T 8 FIBF

C.T +T.T+S.E(25+20+80)=125-20%=100

s. *=ard ot (53 B (2tF doff)
3, Ffqe! TRl (Il 8 FIR AR b #112H)
©. 7 7541 (b 2w )

8. W g =7 ¢f5
¢. T e = 1o

b, YT TG @ (AW @ Wy (AT b5 (A ¢fB)
q. [ RE & (v @ )

b. [ *37 Tl / qo9/ formr/ om Afsy

5. OF FAR B

So. SChRA (51T / 541

S AR 0 ¢

o SNIF I IR 3 BT # (8-95)

o JIE A S A6 ¢ BT # (8-3¢)

o A *w T 8 IIAT [T IR 4T BT # ¢
o S[CBRW (ST & NI T, NN AT |

ST ARE A 3

o SNIF I 32 8 BT # (80-93)

o IR TG Tl 8 BT # (Su-28)

o OT TR T BT # 0

o SRRV (RTA 8 WINITha Geife<ss®, Siwie fery 7%
I 29 ¢

S 8 JF AR S{efCaAbar

e e, fogw: Bafe
AT 1T 8 LB

yo
yo
yo
ot
ot
yo
yo
oe
oe
Yo

C.T +T.T+S.E (25+20+80)=125-20%=100

1.Word meaning

2. Make Sentence

3. Fill in the gaps

4. Translate into English
5. Translate into Bengali
6. Answer to the questions
7. Poem
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8. Change the Gender, Change the Number, Translate into Englishos

9. Define with example 10
10. Paragraph writing 05
11. Writing the name of birds, Animals, Seven Days,

Twelve Months 05

1* Terminal Examination:
e Board book: Page # ( 2-30)
e Active book : Page # (3-22)
e Eng. Grammar- Lesson# (1- 6)
e Paragraph writing: Early Rising, The Cow
e Writing the name of Five birds & Animals.
2™ Terminal Examination:
1. Board book: Page # ( 31-60)
e Active book : Page # (23-41)
e Eng. Grammar- Lesson# (5-11)
Paragraph writing: My Mother, School.
e  Writing the name of Saven Days and Twelve Months.
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